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1| FE U i S Sk SR R 2000m T =8 11A5H = 15. 1 0.5 4. 30.6 2 0.8 < <
T 14.1 31.8 2 0.8 <1 <1
o ka1 R Bt [ 8 | gsE | B 0| 00 2. 29.2 3 2.1 a a
T 1.1 29.3 4 2.0 <1 <1
3| AH R Hb 5 v BB )1 592000m s 3T =8 11A6H & 19.7 0.5 7. 317 < 0.1 <l <l
T 18.7 31.8 1 0.5 <1 <1
4 59 1000m e 3T f’é 11A6H = 8.2 (7)2 7. 2(1): 1 g‘: : :
TR TSR E3E 0' 5 31. 7 <1 0' 6 <1 <1
5 K H 59 1000m e 3T = 11A6H & 10.8 : 7. : :
T 9.8 32.1 6 1.7 <1 <1
6 /NI 1000m e 3T =8 11A7H i 13.0 0.5 5. 3l.4 2 L1 <l <l
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TR R AR E3E 0' 5 32. 1 3 1. 0 <1 <1
8 REJI 7K 1000m et 3T = 11A7H = 12.3 : 5. : :
T 11.3 32.7 8 1.4 <1 <1
9 & ) 119 1000m {3 =8 11A7H = 10. 4 0.5 3. 32.3 9 2.8 < <
T 9.4 32.8 7 2.4 <1 <1
0 T b e K1 1000m o 3T #E pse| = IET - 2. 31.9 5 3.0 a a
T 10.7 32.6 6 3.9 <1 <1
117 R F ##91000m {3 L 115131 = 11.6 0.5 2. 32.2 6 3.3 <l <l
T 10.6 32.7 7 3.9 <1 <1
12| KA [ ##51000m {3z L 11H12H = 11.8 0.5 3. 32.3 2 L7 < <
T 10.8 32.8 4 2.3 <1 <1
13|V o & T S B HN M9 1500m 3T =8 11H16H i 17.3 0.5 4. 32.1 2 L3 < <
T 16.3 33.2 3 1.5 <1 <1
14| i mER Ao doomitEl— 28| 1150p | & 6.8 %0 3. 311 L L0 < <
T 15.8 32.9 3 2.0 <1 <1
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TE 17.8 32. 4 1 1.2 <1 <1

- BREOH R, RIS L CAE b RIS Re




OnFG(EER)
BEEEZSIVITRE-E

R A kR —RxIEH B PEEIREE [Ba/kg (WZJE) ]
No. 7kiﬂi% :BKE& H 35{% (m) :BKAE{;E l/él\ﬂl-ég: ‘l‘%llj( ﬁﬂl%ﬂ%k v '7 I . {Jﬁ%
(cm) (%) Cs—134 Cs—137 &
1 [ARB b S g dak FIRM AR A 2000m i T 11HA5H = 15. 1 5 74.8 b7 <10 <10 -
2142 1Rk TEEAE IR X 15 e 11A5H £ 2.1 5 72. 1> b - <10 110 110
3| FE R Hh SR BB ##92000m AT 11H6H = 19.7 5 71.2 b <10 16 16
4 T T %9 1000m A< 3T 11H6H 2 8.2 5 73.1 b <10 55 55
5 PRI KA 1000m A 32 11H6H E 10.8 5 71.9 12 <10 23 23
6 IS 59 1000mfs 3T 11A7H i3 13.0 5 70. 8 Tib <10 15 15
7 ; 75 7)1 #92000m ) 30 11A7H 5] 17.1 5 45. 2[00 b - 29 340 369
8 FELARHAPE LI HE) 159 1000mf T 11AT7H 2 12.3 5 73.1 b <10 110 110
9 & )19 1000m A 3T 11ATH = 10. 4 5 73.5 b7 15 190 205
10| FEBERT Hh i ak A5 1000mfT T 11A13H e 11.7 5 73.5 Tb <10 62 62
117 IR E K 1000m A+ 36 11A13H 2 11.6 5 71.1 Tib <10 55 55
12| R B 59 1000m {3 11H12H 2 11.8 7 73.6 b <10 29 29
13|V i & T HI SE I B9 1500mfF U0 11H16H fi 17.3 8 74.6 b7 <10 13 13
14|/ 4% 1k PG 5% 2 55 2 D AL K400 m 13T 11H9H & 16.8 7 4791 L | - 27 340 367
15| 8 7 IR 1 P 179 1000m A 3T 11H12H 2 18.8 10 68. 1 b <10 42 42
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